QY% Houré) o
Notes :- 1) All questions are compulsory. P e
2) Each question carries 15 Marks. >
3) Figures to the right indicate full' marks
4) Working should form part of gnswer j

Q.1 A) Match the Column (Any 8) X
Column A %~

1) Master Budget .~

2) Limiting Factor"

3) BEP :

4) Sales Budget

5) Minimym Price ..’

6) IncreaSe in Selling Prxce

o ey Column B<:;'
> A) AlwaysUnfavorab“Ie
_.'B) Variable Cost

k C) Baked on Margmal Cost
D). ”leltmg Factor o
E‘) DecreaSe inBEP /

T) Equal'to Margmal Costmgi’jﬁz';

7) Key Factor . Q) Est;mate of sales o

8) .Make or Bay N . H) No Profit, No loss stage Ew;

9).: Margmal Cost . O D" Constramt v

(10) Idle Time Vananee ,I) Summary of all fuhctlonal budget A
B) State whether the statements True of Falsg (Rewrlte the sentence3 (Any 7) (7)

1) Excess of actual cost over standard cost is a fayorable Varlance
2) C“est mcurred in the past is future‘ cost. A o
A 3) .- Flex1ble budget is rxgld - Aol &
4) Budget “manual i is: budget prepared anmzally ‘g_;a;f
Sales anager. 1s responstble for efﬁgent buymg
Labour strike causes 1gile time varidnce. - : ,
The mosbpzoﬁtable sales miXx s the one whtch gives. fgnaxnnum contrlbutlon
Contrlbutlon varianee is under the control of management.

PV raf:lo shows: the relatlonshxp between contrlbutmn & sarles

At s,hutdown pomt operatmg loss i is equal to Ioss due to shutdown

6)

w,.

Q2 15)
(' Year 2019
Flr ; Half Year Saednd Half Year
: 8,10 QOO < 10,26, ooo
Profifearned 21~6oo Ao 64,800
Fx:(im the above you ar asked te compute the following assuming that the fixed cost

_A».;remams N .,5 ’ .
arthe sam¢ jn both theperlods::
" 1*Profit/ Volume Ram;{
2 leed Cest o
“‘%3 Break Even Pomt inRs.
4. Améunt of pmﬁt or loss-when sales are Rs. 6,48,000
5. Amount of sales reqmred to earn a profit of Rs. 1,08, 000

OR
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Paper / Subject Code: 85602 / Cost Accounting - IV~

Following information is available : Ty %
Produet ‘X’ 7| _Product Y’
Per Unit . Per Unit
Direct Material N80 | ~100
Direct Wages e 401 Y50 |
Variable Overheads o 30 > 501
Selling Price T ; 3\;200 & < 275

Total Fixed Overheads Rs. 20 000/- " , 4
From the following alternative whlch sales mlxed will brlng hlgher prof ts v
a) 250 units of X'and 150 urnts of Y .. - s
b) 150 units of. X and 250 units of Y
¢) 400 units of X only - ?
d) 400 umts of Y only
e) 200 umts of X and 200 umts of Y
Support your answer w1th workmg

oy

Q3. A department company, Gunjal stores attalns a sale of Rs. 12 00 000 at 80% of its normal

capaczty and as. expenses are given below: A ; AR 1 5): '
A Partlculars A s Rs:.
Admmlstratlon Cost - : a y— :
" Office Salafies | 1,80, 0w
,""General\.E'S(penses 2% of Sales e
v Depreelatmn ) 15 000
¢ Rates and Taxes o K 5'17,500“, “‘
Selllng Cos : : ‘ > 1 ‘
" Salarics. * S S%Of Sales -
Travelling Expenses 2% of Sales
Sales Office Expensesi'," : | 1% of: Sales
aGeneral Expenses ' % of Sales
Dlstrlbutwn Cost .- 3
; Wages ] ‘30,000
Rent . ” 1% of Sales
Ofﬁce Expenses 4% of Sales

Draw up ﬂex1ble admmlstratlon selhng and dlstrlbutlon costs budget operating at 90% , 100%

~and 1 10% of capacnty
OR
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Paper / Subject Code: 85602 / Cost Accounting - IV ‘

An estimate shows that there is a market for 10,00, OOO units of an electrrc beH Two: blg compames
producing this electric bell will probably drvrde 80% of the market.. Among_ other companies,
producing the bell Avadhut Ltd. should get 15% of the' total market 60% of Avadhut sales will .
probably be evenly divided between the first: and the last ca]endar ‘quarter of the year, Wrth twice as
‘many sales being made in the second quarter as in the: thrrd , @ ,

The bell sells for Rs. 30 a unit, with manufacturing-costs as follows -

Partrculars / 7 Rs. o
Direct Material Cost. " Fa Y & 15
Direct Labour Cost. o A 2" 7.50 )¢
Variable Overhéad Cost Py o A 258
Fixed Overhead Cost . = ~ 1,00,000

Prepare a sales budget for. the year showmg cost: of productlon and gross profit by ca[endar quarter N
Assume no change in the mventory levels durmg the year: S :

Q.4. Calculate materlal and labour Varlances form the followm0 data:- A (15)

For 5 units of product X the standard data are:
Material - 80 Kg: @ Rs. 50 perkg -
Labour —200 Kg @ Rs. 5 per hour
Actual Data:- o /
Actual Productron 3 OOO units
N "Materral - 79,800 kg @ Rs. 52 per kg .
' Labour 2,00, OOO Hours . @ Rs. 4. 90 per hour
N OR
From the: followrng mformatlon about sales varlances < s
a) Total Sales Variance, b) Sales Price Varlance ¢) Sales Volurn“e Variance
d) Sales MIX Varrance, “¢) Sales Quantrty Varlance i o
Unlts Standard fr Rs. -* Unlts Actual Rs. W
: ‘Rate in Rs. " e ‘Rate in Rs
N, : | Per unit . KA | per unit
A~ o 5,000 & 500 25,000 | - 6,000 6 36,000
B s 4000 6|7 24,000 5,000 5|/ 25,000
= 3,000 [ - x 21,000 ~4,000 8| 32,000
Total> o 12 000,‘_ b 70,000 | 15,000 93,000
Q 5 (A) What is budget‘? Explam its’ types %] it 8)
- (B) Explam Margmal Costrng What are: 1ts advantages Marginal Costing? )
R OR -
(C) erte a note on any’ Three : o as)

1. Absorptron Costmg
~ 2. Benefits-of Standard Costmg
e Condltlon for budgetary centrol
4. Break Even Chart :
5 Zero Base Budgetmg
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